
Grille Installation Instruction 
 

Part# 
GR03FEI90

F/W 
Application For 2014-2015 Chevy Silverado 1500 

 

Page 1 of 2 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit 

to adjust to fit. We strongly recommend the professional installer for best result.  

Please use masking tape and tape the OEM grille shell along the edge to protect your vehicle during 

installation. 

We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

 

Rev. 191101 

 

 

 

 

 

 

Parts List 

Item Part Name QTY Description Item Part Name QTY Description 

1 Billets 6 Aluminum 5 # of billets 6  

2 Nylon Lock Nuts 2 6-32 6 # of rivets 20  

3 Black Fender Washers 2  7 # of tabs 6  

4 Stud 2 6-32×2″ 8 Allen Key 1  

    9 Wrench 1  

 
Install Notes:  Overlay                Replacement                 Drill                     Cut                            

Step Description illustration 

1 
Identify the grille & hardware with parts list. 
Assemble billet grille as shown. 

 

2 

Test fit the grille in the factory bumper opening. On 
the backside of the mesh grille are two threaded 
studs.  Note where they make contact with the 
plastic in the factory bumper opening and mark the 
point of contact. 

 

3 

Now drill a 1/4″ hole through the plastic in the 

factory bumper opening where you made the 
contact marks. Now insert the grille into the factory 
bumper opening with the threaded studs on the 
grille going through the holes that you just drilled. 

 

√ 

 

× 

 
√ 

 

× 

 

M4-15 Bolts 
M4 Nylon lock nuts 

Rear view 

Front view 

 



Grille Installation Instruction 
 

Part# 
GR03FEI90

F/W 
Application For 2014-2015 Chevy Silverado 1500 

 

Page 2 of 2 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit 

to adjust to fit. We strongly recommend the professional installer for best result.  

Please use masking tape and tape the OEM grille shell along the edge to protect your vehicle during 

installation. 

We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

 

Rev. 191101 

 

4 
Thread a stud in each nut welded to the grille. Hold the grille against the OEM grille shell, be sure the bolts are through the 
OEM grille shell.  

5 
 From underneath the vehicle reach up behind the mesh grille and locate the two threaded studs protruding through the 
plastic. You may need to unclip the rubber splash guard on the bottom of the vehicle to reach the threaded studs. Place the 
black washers and nylon lock nuts on the threaded studs and tighten the lock nuts. 

6 Replace the clips on the splash guard if you removed them. 

7 Installation completed!!! 


